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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. All questions are compulsory.

3. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. Choose appropriate word to fill in the blanks :

(a) (HTML/CSS/JavaScript) is a programming language used to
create dynamic and interactive web pages.

(b) The protocol responsible for sending and receiving email messages over the
internet is (HTTP/SMTP/FTP).

(c) A (network/system/cluster) is a collection of interconnected
computers that can communicate and share resources.

(d A (MAC address/IP address/subnet) is a unique identifier
assigned to a network interface on a computer or networking device.

(e) (Compilation/Interpretation/Translation) is the process of
converting source code written in a high-level programming language into
machine.

() The numbers of attributes of table are known (tupple/ entry/
degree)

(g) A (primary/foreign/candidate) key uniquely identifies a record
within a database table. (7)

2. Describe the functions of the CPU (Central Processing Unit) in a computer.
Or ’
Explain the operating system. Compare and contrast the features of Windows,
macOS, and Linux operating systems. (6)

3. Differentiate between primary keys, and foreign keys in a relational database.
Explain with examples each type of keys.
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Discuss the advantages and disadvantages of using Relational databases compared
to traditional relational databases. (6)

4. What is the use of software in computers? Explain the difference between system
software and application software.

Or
Explain the client-server model of network communication. How does it work,
and what are its advantages in distributed computing? (6)
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